roots ) G -y

X +6x+11x+6=0 :¥ Jls

a=[16116];
b =roots(a)
b=
-3.0000
-2.0000
-1.0000
poly ,siws -Y
O |y el aseiin Q—I slais, a5 glabozais
S e
Y ko aolsl o0 ¥ Jle
¢ = poly(b)
c=

1.0000 6.0000 11.0000 6.0000
polyval ,giws -¥
DS (o et | glabezaizr SO lade
Y b delol 000 Jlo
d = polyval(a, 2 *sqrt(-1))

d=
-18.0000 +14.0000i

tf Hgiwd =0

DS ooy y25 o @b Sygan ) Hlae b s S
S
num=[2 0];

>>den=[12 4],
>> sys=tf(num,den)

Transfer function:
2s

sh2+2s+4

Impulse g -

S oo (e ) e o a0 a4 muly
el oY Jis

impulse(sys)

MATLAB  slgloalygiws 5l S g
residue ,gws -\
Do o Hlis Jle SO L, jeiws ool o Slae

s +s’+s+4 D) e
F@§)=—7F—"—
s*(s+1)
feld (S S 4 a el e
3 4 3
F(s)=1+—+—+—
©) s s s+l
I, oaile g Loudad 15 slodosdljgiws 5l oolewl b >
B=[111 4]; Syl e Sy
A=[110 0];
[R,P,K]=residue(B, A)
R =
3
-3
4
P=
-1
0
0
K=
1

)13 2 0315 b ekle S el (3 R
.a)bj).sbd\:‘_gtg.,bj‘\f@\&)bﬁ P
e ol il S el 5l K
Dyl yaly CUC}MJ{C)J}*‘
[num, den] = residue(R, P, K)
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step jgiws -V
B8 o e ) e S oy a4zl

P s gl A Ji

step(sys)

laplace ,gws -A
£ e

>>syms t
>> laplace(t)
ans =

1/s"2
Isim g -4
wlyond Gyyed howd &b L e S Eul j5ies
S oo e olgBs (6995 9 a0 L olgSds adsl Lyl
adsl bl 5 (cwgiom (6999 40 7 Jlo ol )+ Jls
Jes
>>1=0:0.01:5;
>> u=sin(t);
>> Isim(sys,u,t)




